[N of associated (recoToSim) tracks vs dxy

N of reco track vs dxy

N of associated (recoToSim) looper tracks vs dxy

%] [%]
] ]
] g
5 =
o g
& S
E
1 Sl

10°

10°

Q
£y

|
10-5 0 5 10152025
track dxy (cm)

o 525 2010 -5 I‘ 510 15 20 25 05
track dxy (cm)

N of reco track vs dz

[N of associated (recoToSim) tracks vs dz_]

2 2 F
Q Q I
8 8
81.055_ .............
1 = E
10°F
3
10* [
10°F
EP
1 1025_ .
) ok
5 5
o 14
501001020 30 093 10 20

track dz (cm)

track dz (cm)

0995-20-15-1

'.

5 10 15 20 2
track dxy (cm)

[no

f as:

sociated (recoToSim) looper tracks vs dz |

=

duplicate tracks

Ratio

-10 0 10 20 30
track dz (cm)

o
W

T
|

u lnII
30

track dz (cm)



	Contents
	Page 1


